Read through this text. Then use the words in capital letters below to form a word that fits each space.  

It is very difficult to decide on the correct (0) ....................................... in cases like these. This was why it took the judge so long to reach a (1) ........................................ in Mrs Lovell's case. Her lawyer said in her (2) ..................................... that she was lonely and confused and that this was why she had ignored the (3) ..................................... of her neighbours for so long. He also argued that this was not a case of deliberate (4) ................................... . In other words, Mrs Lovell had no

(5) ...................................... of causing suffering. He also argued that a case like this called for

(6) ...................................... . 


The judge finally found her (7) .................................... but gave her (8) ............................... to keep one dog for a period of a year, subject to good (9) ................................. . In other words, if she repeats her (10) ................................., the dog will be taken away from her.

0
PUNISH
6
UNDERSTAND

1
DECIDE

7
GUILT

2
DEFEND

8
PERMIT

3
COMPLAIN

9
BEHAVE

4
CRUEL

10
OFFEND

5
INTEND


Read this text and the words in capital letters below it. Change the form of the word so that it fits the numbered space.

I saw a film last week that was not very (0) ................................... . It was a comedy but it was not

very (1) ................................... . But perhaps the real problem was not that the film was bad but that I was (2) .................................. . The weather was very (3) ............................. that day too. To add to my problems, I was (4) ................................. because I had just had some very (5) ...........................   news. I had been hoping to get a very (6) .................................. job that someone else got instead. In fact, I was very (7) ............................. I didn't get it because I was (8) ..............................
that I had all the right qualifications. However, (9) ................................. things like this happen all the time, don't they? So why was I (10) ............................... ?

0
INTEREST

6
INTEREST

1
AMUSE

7
SHOCK

2
DEPRESS

8
CONVINCE

3
DEPRESS

9
DISAPPOINT

4
DISAPPOINT

10
SURPRISE

5
SURPRISE



